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Questions 1 to 15 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4) and
shade your answer on the Optical Answer Sheet. (30 marks)

1. The value of digit 5 in 75 328 is

(1) 50
(2) 500
(3) 5000
(4) 50000

2. 36 258 rounded to the nearest hundred is

(1) 36300
2) 36260
(3) 36200
(4) 36000

3. 3 and 4 are factors of

(1) 8
(2) 18
3) 24

(4) 34




How many one-thirds are there in 4 wholes?

1) 12
@ 3
(3) 1%
@ 4

In which of the following does the digit 7 stand for 7 tenths?

(1) 13.75
(2) 37.68
(3) 45.37
(4) 7154

Which figure has perpendicular lines?



Each figure below is made up of 4 identical squéres and 2 identical
rectangles. Which one has a line of symmetry?

(1)

(2)

3)

(4)




The figure shows a pyramid.

Which of the following is a net of the pyramid?

(1)

()

Q %

4)




10.

The area of rectangle B is 56 m2. Its length is 8 m. Find the breadth of

rectangle B.
(1) 6m
2) 7m
(3) 8m
(4 9m

A

8m

v

A rectangle is divided into 4 identical squares as shown below. The
perimeter of the rectangle is 80 cm. What is the length of the rectangle?

M
(2)
3)
4

16 cm
32cm
48 cm

64 cm

?

<&
<

—~

T

4

T




11.

12.

"A square piece of paper as shown in Figure 1 is folded twice into the

shape of a smaller square as shown in Figure 3 below. The area of the
smaller square is 9 cm2. What is the perimeter of the square piece of
paper as shown in Figure 1?

-.“_).- Fa——

|

Figure 1 Figure 2 Figure 3
(1) 12cm
(2) 18cm
(3) 24cm
(4) 36cm

Jun Kai earned $130 for a day of work. How much did Jun Kai eam for
14 days of work?

(1)  $550
(2) $650
(3) $1720
(4) $1820



13.

The table below shows the number of customers at a drinks stall from

Monday to Friday.
Monday Tuesday | Wednesday | Thursday Friday
450 300 500 250 450

Which one of the line graphs below best represents the information in
the table?

1’
(1)
Mon Tue Wed Thu Fri
N
N
(2)
Mon Tue Wed Thu  Fri
T
N Z
AN
(3)
Mon Tue Wed Thu Frn
,, —
h \\
(4) - -

Mon Tue Wed Thu Fri



14.

The pie chart shows the favourite types of food of a group of 60 children.
Which statement best represents the data in the pie chart?

Favourite Food

/— Fishball
Noodles
Roti Prata Bes Hoon
1 1
3 6
Chicken Rice
5

1

Chicken rice is the least favourite food among the children.

(1)
The number of children who chose bee hoon is twice the number
(2) of children who chose roti prata.

(3) % of the children chose fishball noodles as their favourite food.

(4) 20 children chose roti prata as their favounrite food.



The table shows the prices of tickets for a concert.

Type Monday to Friday | Saturday and Sunday
Adult $31.60 $39.60
Child $15.90 $21.90

How much does a family of 2 adults and 3 children have to pay for the
concert that will be held on a Saturday?

(1) $110.90
2) $126.60
(3)  $144.90

(4)  $162.60
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Questions 16 to 35 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (40 marks)

16. What is the remainder when 1786 is divided by 9?

Ans:

17.  What fraction of the triangles shown are black in colour?

A AV VAAY VAN

Ans:

9
18.  Express 77 inits simplest form.

Ans:




19.  Which two of the fractions below are smaller than -;'?

S

4
8 12

3 2
5 7

Ans: and

20. Write the decimal represented by A.

Ans:

21. Round 23.45 to the nearest whole number.

Ans:

AT,
-y

22.  Arrange these numbers from the smallest to the greatest.

5 ° 0.408 , 0.048

Ans: ,

(smallest) (greatest)




23. 6.3-0.74=

Ans:

24. Name the smallest angle.

Ans: Z

25.  In the figure below, ABCD is a rectangle. ZEBC =15°. Find ZABE.

Ans:




26.  The table shows the number of boys and girls in two Prima

ry 4 classeg

who took part in two sports events, Long Jump and High Jump.
[Class Number of boys Number of girls Tota|
Long Jump | High Jump | Long Jump High Jump
4A g 11 ? 6 40
4B 10 8 10 14 42

(@) How many boys in 4B took part in High Jump?

Ans: (a)

(b) How many girls in 4A took part in Long Jump?

Ans: (b)

Use all the digits below to form the smallest 5-digit even number. Each
digit can only be used once.

ojolo

Ans:




28. The difference between two numbers is 1340. The greater number is 5
times the smaller number. What is the greater number?

Ans:

28, Joseph spent $21.95. He spent $3.25 more than Muthu. How much did
Joseph and Muthu spend altogether?

Ans: $




30. The figure below is made up of 2 identical squares and 4 identical
rectangles. The length of AB is 45 cm. Find the area of a square.

45 cm

Ans:; cm?

3’ Using a protractor and a ruler, draw ZPQR = 104°. Mark and label the
angle. The line QR has been drawn for you.




32. In the square grid below, line EF and line FG form two sides of a
square EFGH. Complete the drawing of square EFGH.

33. Complete the symmetric figure with XY as the line of symmetry.




34.  The line graph shows the number of members in a golf club from 2019 to

2023.
Number of members in a golf club
200 — \
1 //2+
50 —~
- //
Number of _ N, -
Members ‘ AN
50
0

2019 2020 2021 2022 2023

(a) During which 1-year period was there a greatest increase in the
number of members in the golf club?

Ans: (a) Year to Year

(b) How many fewer members were there in 2021 than 20207

Ans: (b)




35. Two types of cardboard are sold at the prices shown.

small large

$3 $5

Meiling bought a total of 23 cardboards. She paid $85 altogether. How
many small cardboards did she buy?




For questions 36 to 43, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question. (30 marks)

36. The table shows the number of pancakes and tarts sold in a cafe from
Friday to Sunday.

Day Pancakes Tarts
Friday 45 42
Saturday 52 33
Sunday 48 51

(a) On which day were there more tarts sold than pancakes?

Ans: (a) [1]

(b) Each pancake was sold at $3. How much more money was
collected from the sale of the pancakes on Saturday than on Friday?

Ans: (b) [2]

10



37. The mass of a box with 5 identical cubes weighed 31.7 kg. 2 cubes were
removed from the box. The mass of the box with the remaining number
of cubes weighed 20.3 kg. What was the mass of the empty box?

Ans: [3]

11



38.

James bought an equal number of muffins and cookies for a-aroup of
friends. When he gave them 5 muffins eagh, he had 6 muffins left.) When
he gave them 7 cookies each, he was short of 4 cookies.

(a) How many muffins and cookies did James buy altogether?

Ans: (a) [3]

(b) How many friends did James give the muffins and cookies to?

Ans: (b) ]

12



39. The figure below is made up of straight lines that meet at right angles.

7m

6m

26 m

(a) Find the perimeter of the figure.

Ans: (a)

(b) Find the area of the figure.

Ans: (b)

7m

(2]

2]

13



40. There is a rectangular piece of cardboard measuring 23 cm by 19 cm.

Danissa pasted a photograph at the centre of the cardboard, leaving a
border of 4 cm all around it.

23 cm

19 cm

(a) What is the perimeter of the photograph?

Ans: (a) 2]

(b) What is the area of the photograph?

Ans: (b) [2]

14



4.

Mrs Singh baked some cupcakes for a party. % of them were

chocolate cupcakes, % of them were strawberry cupcakes and the

rest were vanilla cupcakes. There were 56 strawberry cupcakes.

(a) How many chocolate cupcakes did Mrs Singh bake?

Ans: (a) [2]

(b) How many more strawberry cupcakes than vanilla cupcakes did Mrs
Singh bake?

Ans: (b) [2]

16



42.

Cassie and Eli had some orange juice at first. Cassie gave % £ of orange

. . .5 -
juice to Dayan. Eli then gave Cassie -B-t of orange juice. Cassie had

9
10 £ of orange juice in the end.

(a) How much orange juice did Cassie have at first? Express your
answer as a mixed number.

Ans: (a) [2]

(b) Each of the statements is either true (T), false (F), or not possible to
tell (NPTT) from the information given. For each statement, put a
tick (v') to indicate your answer.

Statement T F_| NPTT

3
Eli had B £ of orange juice left.

The amount of orange juice Eli gave to
Cassie was less than the amount of - =
orange juice Cassie gave to Dayan.

P g

Cassie poured the amount of orange

The amount of orange juice she poured

juice she had in the end into 2 cups.

1
into each cup was more than = £.

2 I

(2

16



43.

There were 76 more belts than caps at first. After 158 belts and 30 caps
were sold, there were 3 times as many caps as belts left.

(a) How many belts were there in the end?

Ans: (a) 2]

(b) How many caps were there at first?

Ans: (b) 2]

End of Paper

17
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5 7 Each figure below is made up of 4 identical squares and 2 identical
4. How many one-thirds are thers in 4 wholes? reactanggles. W?\lch one has a line of synmetry?sq r
3
(1) 12 | whole = 3
3 ]
@ 3 .
Since | uhole hag et - twicds, ) Ll
® 13 § nolef WM have gt S, : ]
4) 4 "
“ Y x 3= 12 ) _]
@ l |
5. Inwhich of the following does the digit 7 stand for 7 tenths? __]
0-F
(1 1378 __1 .j
2) 3768
; o T 17 (%)
(3) 4537 (O )
(4) 7154

i
]
© 1 11
8. Which figure has perpendicular lines? f
[}
6
v

3

<ZIX»
&,

4


https://freetestpaper.com/

8. The figure shows a pyramid.

Which of the following Is a net of the pyramid?

- &
@ Eﬁ>

o <TDp »
“ %

11. A square piece of paper as shown In Figure 1 is folded twice into the
shape of a smaller square as shown in Figure 3 below. The area of the
smaller square is 9 cm?. What is the periméter of the square plece of
paper as shown in Figure 17

& Q(M—‘t
b e A s ;
1] — b O
Figure 1 Figure 2 Figure 3
(1) 12cm 3%3=9
(2) 18cm Ixa=G (3
(3) 24cm EXY=24%cm
(4y 36cm

12, Jun Kai eamed $130 for a day of work. How much did Jun Kai eam for

14 days of work?
() 550 3130 x M =%1820
{2) $650
t (%
{3) $1720 | 3 0 )
(4) 1820 % |y
5 2 ©
+
p 3 €.9
| & 2.9

10.

13.

The area of rectangle B is 56 m?. Its lengthis 8 N
rectangle B. i

ey

B ?
8m
(M 6&m 5 — 8=
(2) 7m (2)
(3 8m
4) 9m

A rectangle s divided into 4 identical squares as shown below. The
perimeter of the rectangle is B0 cm. What is the length of the rectangle?

?
1 H H
(1) 18cm 010 =
(2) 32em
Y= 32
(3) 48cm 9 £ Cl)
(4) 64cm

Tha table below shows the number of customers at a drinks stall from
Monday to Friday.

Monda Tuesda Wednesday | Thursda Frida
450 300 500 250 450

Which one of the line graphs below best represents the information in
the table?

* Monday and Fdag
- - sawe dnta  (¥5O)
(1) o ravee etk om Hhe.
Vine g7aphy
Mon Tue Wed Thu Fn
*  Wednerday
- ;{j,j\‘,ﬁ poivt o Fhe
Une ornply
2)
* Twerdey
o 259 awld
Mon Tue Wed Thu Fd Rake
450
- I Netwes., daa pointy
e 2 Mo [FX A Twars
Ay
(3) A Thuvrday
- Lowest poivd ovn e
1 Bne oraghy .
Mon Tue Wed Thu Fr
X
£ = "
@ (%)

Mon Tue Wed Thu Fr



44 The ple chart shows the favourite
Which statement best represents the data In the pio

types of food of o group of 60 children.
chart?

The table shows the prices of tickets for a concert

Type Monday to Friday | Saturday and Sunday
Adult $31.60 $39.60
Favourtts Food Child $15.90 $21.90
Hawmud\domafmnﬁyalzaduﬂsandadﬂdmnhmtopaybnhe
concert that will be held on & Saturday?
(1) $11080
$29.60 x 2= §3%20
(2) $126.60
S X .
(3 $14490 $at 1o bi‘lio
(4) $162.60 #BS'-?O-f $39.50 = L0
ChickenRice (25) y 2
% A at..9 C;)
= b3 3
1 3 2 .
B S
8.5 5.3
X
(1)  Chickenrice Is the least favourite food among the children. |
(2)  The number of chikiren who chose bee hoon is twice the number +4a. 20
of children who chose roti prata. X + 65. F0
1 fiohhall A, £ 28,
(3} 75 of the children chose as their food. X % 4 90
(4) 20 children chose roti prata as their favourite food. v/ (q-)
tl = A
Ree Hoon—3 bo =6 = 10 3
R
Rok patn—> bo+3= 20 6 7%
§ L \
Chickn Rlu—y box 12z 5 EaFrE ey
rx5= A5
—% = |—’; (-Q:Lgu nooJlﬂ')
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1
18,  Which two of the fractions below are smaller than 'i?

v
3 2 4 5
5 + 7 8+ 1
Lt
Bt Sy T B
sem| 2w ety AT
LBl 8 =, oni
ERRETE RET T YR " »
3 {1 fs oy T2
T3 isrz Ans___F  and
20, Write the decimal reprasented by A.
PEERS PR TR YT NN THOS L0 PO £ L by
! I T 1 1 L] 1 i 1 T 1) l 1
0.80 I 080
A
Ans: 0-£3
21.  Round 23.45 to the nearest whole number,
2
Ans: 3
22, Armange these numbers from the smallest to the greatest.
2
5 0.408 , 0.048 ’
2 X2 y 'é' wask b wiriten, not Ot
by T
(o L
= 0-4 —2_
Ans: 0-048 . T 0.408

»

7

: (greatest)

?Quesﬁonsﬁb:&mnyZmrkseach. Show your working clearly and writs
 your In the sp provided. Forq which require units, give
your answers in the units stated. (40 marks)

16. Whatisthe rekmainderwhen 1786 Is divided by 97
198 &y
9 Ir¥s ¢
nl e
3¢ J

R
F
¥

A

b
“32
F

n

Ans:

17.  Whatfraction of the triangles shown are black in colour?

VANANYYAN

5
ans: WY
18. Express%nmmwwm
as_3
12=3 4 3
An&'__j_h
1
23 76.3-074=
i
5k. 40
- 0. 3%
5. 56
5.5
Ans:
24.  Name the smallest angle.
Ans: £_¥

25, In the figure below; ABCD Is a rectangle. ZEBC=15". Find ZABE,

D

Ans: }5




26. The table shows the number of boys and giris In two Prima 4 cla
who took part in two sports events, Long Jump and High Jurr:p. e

Class Number of boys Number of girla Tota|
Long Jump | High Jump | Long JumE High Jum;
4A 9 11 1 8 40
4B 10 8 10 14 42

() How many boys In 4B took part in High Jump?

Ans: {8) 8

{b) How many girls in 4A took part in Long Jump?

9401 +6=2b

4o - 2b = 4
It

Ans: (b)

Use all the digits below to form the smallest 5-digit even number. Each
digit can only be used once.

27.

even.

T Ul Hunded!  TenS  ones

ThowSardl A 10 3 98

30. The figure below Is made up of 2 identical squares and 4 identical
rectangles. The length of AB is 45 cm. Find the area of a square.

At -y
A B
45cm
45=5=9
9x 4= &I
Ans: &l cn?

Using a protractor and a ruler, draw ZPQR = 104°. Mark and label the
angle. The line QR has been drawn for you.

¥

31.

104"

28. The difference between two numbers Is 1340. The greater nump, *
times the smaller number. What js the greater number? ety g

’ I l . !9 ! igit i omer
' place must be

3.3 5
ater [T TTT] %53 wo
iy
_—%\
Smaller Dbﬁ.L—-) -—(( ;_" :
3 ) 2 ‘-——\O
235 33
1340 =4 = 335 % 5
b7 5
335 x5 z(b35
1635
Ans:
29. Joseph spent $21.95. He spent $3.25 more than Muthu. How much did
Joseph and Muthu spend altogether?
12y, a5
$a1.95-$3225:410.70 SBy 38
’ 8§ .Fo
$21.95 + $16.90 = § wo.(5 —l—-§_
\ ]
at. 95
+18. 30
Y0 ¢ 5
Ans: § 0.5
5
32.  Inthe square grid below, fine EF and line FG form two sides of a

square EFGH. Complete the drawing of square EFGH.

Point W muwit
G ve lanetied,

33, Complete the symmetric figure with XY as the line of symmetry.




44" Tra Tine graph shows the number of members In a golf club from 2010t
2023.

Number of members In a goif clud

200
180

150

,LI \\\ 7

bj::mbfr of 100 4
50
[}
2019 2020 2021 2022 2033

(a) During which 1-year period was there a greatest increass in the
number of members In the golf club? o

Ans: (a) Year 2022 to Year 2023

(b) How many fewer members were there in 2021 than 20207

150 . 0 = o

For questions 36 to 43, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question. (30 marks)

36. The table shows the number of pancakes and tarts sold in a cafe from

Friday to Sunday.
$3
Day P. kes | Tarts
Frid: 45, 42
Saturday 52 33
Sunday 48 51

(a) On which day were there more tarts sold than pancakes?

Sunda o)

(b) Each pancake was sold at $3. How much more money was
collected from the sale of the pancakes on Saturday than on Friday?

Ans: (a)

5
Swtwdey — 52 x $3= %16 - é

15 6
Fidoy = 4Sx 334135 -

156 - 4p35= % 21

Ans: (b) (2

13 s |

35, Two types of cardboard are sold at the prices shown.

small large
$3 $5
Meiling bought a total of 23 cardboards. She paid $85 altogether. How
many small cardboards did she buy?
No.of Pree of Ne.of Price of Tetal | Total price
Svatt o (gL larye no. of | o
CarA\oavdf cavdboavds cavAvoardl Cavdiwoard s tﬁ:ﬂ ard boavdS
" I x43= $33 e} 12x$s= $60 [N+12 | $to+ $33
=23 .93
13 3x43= 439 0 10xds5=4s0|B+10) 4394 450
=23 438‘1
ISx $3= $us 2 8X 45= Yo IS +¢ |$¥5 + 4yo
‘5 - 23 = ;25
Aernatve solution
Aume Al cavdtoads are Kiwme  all Canlboards are

Smatl  cavdyeands .
23x% $3= 469
$ec- $89< 4106
$5- $3= $2
¢t > 32= &
23> 2= Is.‘

—

large  cavdloards.
23 x 45 =415

dus- dos

2 ¥30

$5_ 332 42

$30 + 42 =18

15

Ans:

37.  The mass of a box with § identical cubes weighed 31.7 kg. 2 cubes were
removed from the box. The mass of the box with the remai ot

of cubes weighed 20.3 kg. What was the mass of

Masf ob 2 tubes = 31F - 20.3
= kY

Marf of

| tube —3

4% =Q=53

Masf of 3 cwbtf —3 5:F X3 =13

Mass of ewmpty
box

20. 3 - 131
= 2.2

3:2

22 by

femalning number

the empty bo

31. %
20.3

‘ﬁ.‘o. 3

V. &

2 s

©]




38. James bought an equal number of muffins and cookles for a group of
friends. When ha gave them 5 muffins each, he had 6 muffins left. When
he gave them 7 cookles each, he was short of 4 cookies.

(a) -How many muffins and cookies did James buy aftogether?

Muth plef
of Z— 5 10 |5 | 20 | a5 | 30 | 35 4o

P NI AU VIR LU )R EL A K

m‘:r;“-: 3 [ | 20| 2¢ (35

2 k2 o iR w@

20+ 3= k2

62

Anst (@) B

{b) How many friends did James give the muffins and cookies to?

12

19 cm.
s ﬂ»erelsaredmguhrpboeofardboardmeasumzzunby
“ Danissa pasted a photograph at the centre of the cardboard, leaving a
border of 4 cm all around it.

(a) Wnatis the perimeter of the photograph?
23 -4\ = 1S
- G-y 1)
(s+n)xa=52

A @ 22
(b) Whatls the area of the photograph? | 5
NN
15 % 1= 165 f L5
. |5 0
X N
| 6 5
2
Aow gy 1O COA D

9. The figura below Is made up of straight lines that meet at right angiea. |

LJIm W o
£ H G
N ||8m Y 1
R |
3 7m
8
N 26m

{a) Find the perimeter of the figure.
(2b+13)x 2 =78
oR

20+ 1343 4 ¢4 17+ 3=

FE

Ans: (a) 2
f the i
{b) Find the area of the figure 45 6
3
Aea of A > Fxb=4Q o R S
13 2
firea 0f B8 = 2b x 3= | 1
¥ = B2 e
Total avea — 1€2 + 42 =224 __*_‘*1_
23 Y%
2
A ) 2EEMC
13
41.  Mrs Singh baked some cupcakes for a party. % of them were
chocolate cupcakes, % of them were strawberry cupcakes and the
rest were vanilla cupcakes. There were 58 strawberry cupcakes.
(a) How many chocolate cupcakes did Mrs Singh bake?
[——— T )
VYA shranARY 1) Vonilla
L)
54 =1y
¥ x 2= 28
2
Ans: (a) & {21
(b) How many more strawberry cupcakes than vanilla cupcakes did Mrs
Singh bake7
Luwit = 14

Juwifs » 1% x 3= 42
v oR

5b- k= y2

15
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a2

Al covrect
Dvravks )

2 queshont
toweed
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Left than 2

AulrHens Lowteh

:lmnvb)

Cassle and Ell had soma orange Julce at first. Cassie gave % 2 of orange

5
Julce to Dayan. Ell then gave Cassle Et of orange Juice, Cassie had

-1% U of orange Juics In the end.

{a)' How much orange Juica did Cassle have at first? Express your
answer as a mixed number.

Iut  5xs 3L 25

—— e e ™

7629 &xs 4o ¢o

%o
A +._3_“°: RI + _30_ = E‘{"—o
‘o L}’z“’ Yo Yo - 1
1 = ‘\}-a
Ans: (a) _‘_“‘iﬁ___m

(b) Each of the statements Is either true (T), false (F), or not possible to
tell (NPTT) from the information given, For each statement, put a
tick {v") to Indicate your answer.,

- Statement T F_[NPIT
Elihadalofomnge}\nealeﬂ. \/

The amount of orange juice Eli gave to
Cassie was less than the amourt of \/
orange juice Cassle gave to Dayan.
Cassle poured the amount of orange
Juice she had in the end into 2 cups.

The amount of orange juice she poured \/
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htoeawwpwasmomtrmnit.

[2]

Thers were 76 more belts than caps at first. After 158 belts and 30 caps
wera sold, there wars 3 times as many caps as belts Jeft.

(a) How many belts were there In the end?
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Ans: (a) —
(b) How many caps were thers at first?

2b x 3= 3¢
F& + 30:= |08

Ans: (b) { O‘? :

End of Paper
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